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Sp=9(a, +ap) = 54,400=15-6,400=n-3,200 /:3,200 = n=17
N .8
ap=2n+3 = a, ;—a,=(2(n+1)+3)—(2n+3)
=2n+2+3-2n—-3 = a, ,—ap=2=d
.a
a,=21+3=5 = a,=5+2Mn-1)=19 3+2n=19 = 2n=16 = n=8§
A
Scorona + 90 =Spommar = 9(2:3+1-(n—1)+90=5(2-5+2(n-1)) /-2
2 2 2
n(5+n)+180=n(8+2n) = 5n+n +180=8n+2n" = n +3n—-180=0
ny,="3R20 =321  n>g = n=2% = n=12
~ .9
86, 82, 78, ..., -70 = a; =86,d=-4,a,=-70
-70=8—-4(n—-1) = —-70=8—-4n+4 = —-160=-4n = n=40
1) a
ap>0 = 86-4n-1)>0 = 8>4(n-1) = 215>n-1
= n<2f = n=2
2
Ay, =86—4-21=86—84 = @y =2
3
_22 _ =
Sy =% (86+2)=11-88 = S,, =968
A

Sy =2 (-86+70) =20 (-16) = 8,5 =-320

40 ~
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3 3 3
) a,=8a = a,;q =8a = q =8=2 = q=2
4 1 1 1

2

-

4
() a;=a; +480 = 31.2":31.2 +480 = 16a;, =480 = a; =30

A
2’1
S, =305 =30-127=3,810 = 50-S, = 190,500,
P
S, = 76%300 =15,330 9910 D9 190N
15330—302’1*1 130 /+1 2" —s12=9 =9 9-7 =2
) _'ﬁ/' /+ = - - - n= = — ! T “days
N 717
a=2,a,,,=3,-2 = a,=3a,-2=32-2 = a,=4
a;=3a,-2=34-2 = az=10
A
q:a—fzgz2 = ay+x=ay,2 = 10+x=42/-10 = Xx=-2
P
(@)1, 4135, 67.108.563 3
Sodd =21 o =24 =220 Sodq = 44,739,242
N .12
6-k _ 1 2 2
k. 6-k 1 = =1 = (6-k) =k = 36—-12k+k =k
2 _ _ 1345/169—144 _ 1345 — =
K —13k+36=0 = k,="Vpr—r=100 = k=9, k=4
A
_ 1 _ _ 1 _1 _1
kj=9 = 4 =gg=-3 k=1 = G=F5=3.8>0 = =3
6
_ 40 _ 4 _1
alfkle = a7f4(§) =5 = 8 =1g
P
Npiddle =7 = Nt =0+1+6 = n=13
| (1)13 L1 2
—4-— B LT B92 _ 4. 0.8191 _ 8191 — 71023
Sip=+4 ] =4 1 =4251m=T021 = S=T71024
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mnawn 1o N .13

() ag—a,=200 = (a,+5d)—(a,+d)=200 = 4d=200 = d=50

(N ag=12a, = a +850=12a;, = 400=02a; = a;=2000

-
Sp =1(2:2000+50(n 1)) =43,650 =  n(2000+25(n — 1)) = 43, 650
2000n + 25”2 — 25N =43,650 = 25[72 +1975n — 43,650 =0 /: 25
N TN 1T46=0 = n1,2:L§115 . n>0 = n=3% = n=18
A

1300 _ 9425 = a, <2425 = 2000+50(n—1) < 2425
yiapn oownn

n=18 =

= 50n—-1)<425 = n-1<85 = n<95 = n=9

mymwn nTo N .74
a,=6,d=15,a,=42 = 6+15n-1)=42 = n-1=24 = n=25

ay) = 6+1519 = a5, = 34.5km
.34.5 NN NP0 2070 Wawa 20, 21, 22, 23 :WHawn NI )

ND <= 34.5+2-3=40.5 < 42 :N¥7 N> 2377 Y12wa 159 ,001N 4 ¥> IWTHin 11703

Sa=a,+a,+ ... +a,y =2 (26+1.518) =370.5

_ _4 _ _ _
Sy =b; +by+by+b,=%(2345+23) =150 = S=370.5+150 = 5205,

"Britain and France had to choose between war and dishonour.

They chose dishonour. They will have war"
("annbn 15ap° o 19772 1972 07 1970 172 aanbn 173 A% 1T 019098 Noaxt 1awoa3”)
I

ST 7 naRa AT (1938) 19301 0207 By (1874-1965) 9273 1003
(1869-1940) >29an'® »°N3 13112 1730773 NPwHN WK Tw° Pwn 0w 05007 DX
BN PRI MW OMYT NPt p1ID NRY 3w %N

JPERIT T Pw 7T Iy mantnn nR P Tpona MR gonT bz
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1 x .75
a=8,a,,,=a,-2 = a,,-a=-2 = d=-2 09N
2
ap=a,+dn—1)=84+(-2)(n—1)=84—-2n+2 = a,=86—2n
(1 2
ah >0 <= 86-2n>0 < 86>2n < 43>n = n=42
2

a,; =86-243=86-86=0 £ 0, a,, =8 —244=86-88 = @, =-2
b, "1 11701 DPHHYN 09NN NITO NN DI )
by=-2,d=-2 = S, =0(2(-2)-2(n-1))=-552 /-2
Ny

=n(—-4—2n+2)=-1104 = n(—-2n—2)=—1104 /+ 1104

2 2
—2n" —2n+1104=0 /:(-2) = n 4+n-52=0 = n,==1F = n=23
’ n>0

:0M0Y DN 23 1) 0 NINY THN 120N ,0231N OXIDN 42 ¥ 17702

N=42+1+23 = N=66

(Nap w9 mNawn NITo Non nton N .T6

d=50, ag=2a, = a; +750=2a, /—a = a; =350p,
(1) 2
a, =830 = 350+50(n—1)=830 /—350 = 50(n—1)=480 /:50
_ 03 _1p3
n-1=92 = n=102 = NJ
(2
ap=1,000 = 1,000=2350+50(n—1) /—350 = 50(n—1)=650 /:50
n—-1=13 = n=14
2

S, =L (2-350 + 50- 13) = 7- (700 + 650) = 7-1, 350 = 9,450

25,450 — 9450 = 16,000 =+ 16trainings = 14+16 = 30tra|'nings

good men must not obey the laws too well

(1803-1882 . Xp> X T7MWMI 9DI0 YT TN 01990 10K 1701 55K7)

14



0522671210 - (1V)3 ?IR] WM NIRXIT - 472 NINY - MW 01an ©

a, =75, 9=102 :oM1 M0 (1) N .17

3
a,=7102 = a;=79.59y

(¢))
s, =L2=l — 5, =309.12y,
-
Sp=75L020=1 = s, = 3,750 (102" 1),
B

25
Sy5 = 3,750-(1.027 — 1) = 2,402.27 < 2,500

_p 10225
Sp=b,- L=l >250 = b;-3203> 2500

= by =78.05p

oopin Y137 9158
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3] 32 |16 x i

IR OOP ¥13°7 P 313°0 IR POW 130 00 TR KD ARw 110

12 6 = 9 .N1°3 719°%7 DOPT 312°7 1IR3 KT Sxmwn wWInmnT oopi y12°9

34 75w pabr 591 M Pa 7w 5o ooow P Kb

134 5w 0vn°0 O°DT°X 60 2’702 MDD NIPIVNO NPIRT 50 TIY ROX
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A(2,0,0), B(2,5,0), C(0,5,0), C'(0,58) (& D'(0,08 (1 N .71
E(0,5,6) , F(0,0,4), K(1,5,4) .2
(o]
MV M) SFEKM:H"% (2 /FEK=706 (1) )
S

S M(1,0,2) (1) .4

FEKM * Saamk =2 (3
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(1 N
V=25DD =8 = DD = 8=z,
Xoy =Yy =0 = D’(0,0,8)

2
A(2,0,0), B(2,5,0), C(0,5,0), C'(0,5,8)

CE=3CC' =3.8=6=2 = E(0,56)

DF=FD' = DF=%18=4 = F(0,04)

N Y DN Y N OO )90 INDION
B+XC/ yB+yC, Zg

+X
BK=KC' = K( B C) = KOH25H5550) = K@1,54)

DDYOIPN LIYY (1) )

EF:\/(0—0)2+(0—5)2+(4—6)2:@

EK=\/(0-1)2+ (552 +(6-42 =5

FK:\/(0—1)2+(0—5)2+(4—4)2:\/2_6

AFEK: 26=29+5—2+/29-v/5.cos /E = <cos/E=03322 = (/FEK= 70.60
2

_ _ 1 . O _ . o _
SFEKM =2 SAFEK = 2-§-EF- EK-sin 70.6  =+/29-v/5-sin 70.6 = SFEKM =11.36

MR TN RO R MDAPH 1P2%APN AT WIS (1) 1

MF=KE = F-M=E—-K=(0,0,4)— s Yo 2p) = (0,5,6) — (1,5, 4)
(X » Yy 4-2zy)=(-102) = Xx,=1,y,=0,z,=2 = M(10,2)
()
AM=M—A=(1,0,2) - (2,0,0) = (—1,0,2) , AF=F—A=(0,0,4) — (2,0,0) = (—2,0,4)
= AF=2AM = A,F,M TN WP
SN DY DPDIDAY INND L, MYN NN FMK 7Y AMK Dwwns (3)

:0MPDODA DNYY MY DIPHLY DN 199

2

e _ _ _1
g =1l = AM=MF = Saamk = SaFMk = 2SFEKM

= Srekm  Spaamk =2
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1 ~x .3
my = 1,000,000 , q=10145 , t=2
2
= m,=1,000,000 1.0145 = 1,029,210.25
(2)
_ _ _ 3 _1
my = 1,000,000 , q=10145 , t===1
0.25
= My, = 1,000,000 - 10145~ = 1,003,605.45,
(3)
my = 2,000,000 , q=10145 , m, =2,103,353.05 , t="7
t
2,103, 353.05 = 2,000, 000-1.0145 / : 2,000,000
t t
10145 = 1.05168 = In 1.0145 =In 1.05168 = tIn 1.0145 = In 1.05168
_In 1.05168 _
= t=Tnioi; = t=33years
A

_ _ _ p _
my =k , LOL .\ GQgocong year = 1022 Gy =145 . t=2

first year —
p 2 py?
k 1.01-1.022 =k (1+155) = 1.03222=(1++55) /\/~

144g5=101598 /—1 = {f5=001598 /100 = p=1598 = 1.6%

PR b o1
30958 P31, mys 24 by Soowwn yoixn winm 1033

310958 Pw n1nrann wianmi mTpa 200

IWRT D0 RN - 7297 RIT
:0°51%0 11 9DOM3

O°3103%K "W Mpnwn wipn MTPI 6144
07310258 LI5S mpmwn winn mMTpI 864

\0°31095R AYIIRT momwn wion mTpI 264

0O30208 AW RnY memwn wion mTpI 24

(Y2137 197m) Do1035KR 1275 nomwn nnR wann NP

. 6144 + 864 + 264 + 24 +1 = 7297 :3"710

o7 I1037K Pw wiDmT NITIPI ID0NY 0°D011 OYPTIIWwN DY IRn
R OTNIY DR 9D0NY DY RNT 19X IWKRT 00N KT
5, 6, 14, 44, 58, 72, 76, 80, 84, 86, 104, 128, 134, 138, 180,
. 360 71 186, 188, 218, 228, 246, 256, 266, 280, 300, 320, 352
SIWRT 190N - 677,630,881 RIT (MIYP3 360) 11K Y1817 2310308 Pw N1 397 TI0°AT NITRI 1901

(Prime curios , Chris K. Caldwell and G. L. Honaker, Jr.)
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MM yaIRe M3 pRno

(a+b)? =a?+2ab+b? , a2 —-b2=(a—b)a+b)

(a+b)3 =ad +3a%b+ 3ab? + b3 |

)

Vb —dac
R Al

ax2+bx+c=0, a#0

793258

X2 55277 MRMoNI -

a + b3 = (a+b)(@a® Fab+b?)

:N°313°9 AKXNN -

770 -
n°o737 71770 ne1awn 7770
a,=a,a,  =apq |a =a,a,  =a,+d 2003 oo
a,=a,-q"! ap=a, +(n—1)d N TR
_ap;(q"-1) _ n(aj+an)
a n-[2a;+(n-1)d
S :1qu #DOIPXR 00 | S, :W
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log,(a") =b, a9 — b log, c —109aC (a,b,c>0; a,b#1) gnmny -
a ) ) b Iogab . )y M ’ ’

log, (b-c) =logzb + log,c , log, (%) =log,b —log,c , log, (bt) = t-log,b

t

M, =M,-q 2 q RWTt AT DTMT (72°YTT IR) AP MY 10T 217X -
DIZIR TIPINS

m= g :ﬁ i (X9, ¥5)™1 (X, yy) MTPIT 777 9197 W Pw m yiow

y—y;, =m(x—x;) D(Xg,yy) TP YAy =mx+b W nRNwn

PP YUp Pw M(X,,,y,,) YSORT NP1 TNYw

_ XjtXo _Yity2

Xm 2 0 Ym 2
dz\/(X2*X1)2+(Y2*Y1)2

o1 B(Xy,y,)71 A(Xy,y,) o1

:B(Xy,¥5) 1V A(Xy, yy) mTpaa 173 d prana
m,-m, = —1 DR PT1OX 712 AT DONRD M,TI My DOyIDUw oya 0w YIw

2 2 2
(x—a) +(y—b) =R R w71 , (a,b) 1m3mw 2ayn nxnwn

i12°0o°LYo

- S

7:

X, fi+x,fy4 .o Hxply s _1/(x1 —)‘()2.f1+(x2—)‘<)2.f2+ Ca —/—(Xn—)_()2.fn S XX
N T N ’
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k n—k
) :#’—k)' wxs P,(k)=()p (1-p) i X7 AM5¥TS A112n0mT
P(A/B) = w :0%2 nno1s - , P(A/B) = P (’L}gf) N30 1730007 -

77020

sin (a + ) = sin o cos #+ cos « sin §, cos (a + 3) = cos « cos §F sin « sin §

2 2 2

sin 2a = 2 sin & €COS @ , €OS 2a = COS“cx — SiN“av =1 — 2 sin a=2cos?a —1
a __b __c _ g 90979 -

Sha = sn3 s 2R (whwna NX ooIT Paynt 0171 - R) :0°013°077 vown

c? = a? + b? — 2ab-cos v (b=5 a 13 AR AT KT ) 0010 VO -

S :%aR2 DUIRTT o B M oY, /= aR IR o bw nwp TR

Cc5 b pamiboar IR a) S :%-b- c-sin o wPwn now
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(727 722 - h , ©°027 NVY - B) V:% MBI LTI TN

(A pa -/, Puya o111 - R) M = 7R/ :novyn now
*5IDINT *ORIID7T Nawn

N1I1A3 -

t/ t—1 / 1 . / / .
Comnt) (x) =tx , (VX) =o/% (sin x) =cos x, (cos x) = —sin x

/_ 1 /—l X /: X. /:
(tan x) = os%x ’ (Inx) =%, (a) a -Ina, (logyx)

x-In a

[f(x)-g(x)] g f/(x)-g(x) +f(x)-g /(x) :NY3PND N9DIN Pw N1l
UG (x):909 - f(x) g'(x) PRPID NIn bw Nl
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(wnn t # 1)fxdx_t+1+c SLidx=1In|x/+c ‘D20 -
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